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QUESTION 1

When presenting a single volume to multiple hosts, which type of service needs to be running on the hosts?
A. clustering services

B. DNS services

C. directory services

D. DHCP services

Correct Answer: C

QUESTION 2

Which two statements about jumbo Ethernet frames are correct? (Choose two.)

A. A jumbo frame is an Ethernet frame with a payload greater than 1500 bytes.

B. Jumbo frames are always a fixed standard length of 9000 bytes.

C. Jumbo frames can increase the latency on a network due to the transmission of larger frames
D. Jumbo frames enable the transmission of iISCSI packets on the IP network.

Correct Answer: AC

QUESTION 3

Which statement is correct regarding LUNs?

A. a representation of segmented storage space to be provided to their servers
B. a scenario where log file servers reach maximum disk capacity

C. a method for encapsulating Fibre Channel frames

D. a method for optimizing LAN traffic

Correct Answer: A

QUESTION 4
What is an implementation of a secure, multi-tenant cloud environment that is externally available to all users?
A. public

B. secure
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C. private
D. hybrid

Correct Answer: A

QUESTION 5

A company is concerned with high space usage on ils storage devices, especially during certain periods of
time when the same or similar information is being sent or received.

Which solution will address this concern?

A. data compression

B. encryption

C. thin provisioning

D. deduplication

Correct Answer: A
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